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72,430
299,018
74,290
319,418
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Ct23ts X dH
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24
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H

Al

490,380
245,190

49,038
196,152

483,220
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mn <
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490,380
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7,160
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S =

ool ALINESH K (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2dZIE & U2NHENJAMH 29
490,380,000 =14 490,380
J| 245,190
< 49,038
Al 196,152
2s=s0tUsH 2¢ 107,656 86,840 20,816
J| 53,828
< 10,766
Al 43,062
307 glz2tol & 107,656 86,840 20,816
J| 53,828
< 10,766
Al 43,062
11T M SXASE EX 107,656 86,840 20,816
O3s=s0tLUsH 29 107,656,000 14 107,656
J| 53,828
= 10,766
Al 43,062
FHARAJINEXA 144,860 140,000 4,860
= 72,430
< 14,486
Al 57,944
307 21201 A 144,860 140,000 4,860
= 72,430
< 14,486
Al 57,944
11T MISAASEX 144,860 140,000 4,860
OFARAININE NEA 144,860,000 14 144,860
= 72,430
< 14,486
Al 57,944
A0t EuS 5,760 10,150 A 4,390
202 04l 5,760 5,760 0
01 = LH 4 Hi 5,760 5,760 0
OHAINEEHE RFF (WUl 480,000&~12& 5,760
FE=H 16,500 15,000 1,500
307 glz2tol & 16,500 15,000 1,500
04 DIZHHALALSE E X 16,500 15,000 1,500
OR&E=H 16,500, 0002 14! 16,500
ChE3IIE M SE 713,490 698,548 14,942
J| 265,411
< 104,993
Al 343,086
AULs @ JUHME 5 $RUSAHHA T3 280,576 294,732 AN 14,156
J| 140,288




o
SA - B .G (3AH) - MBAY - BES %Ei HR=2
= 28,058
Al 112,230
307 2iz2to| A 280,576 294,732 N 14,156
J| 140,288
= 28,058
Al 112,230
11T A EXAIEEX 280,576 294,732 N 14,156
OUE3IIE U2uUEAEA I
280,576,000 = 1Al 280,576
J| 140,288
= 28,058
Al 112,230
CI23otE At &2l X 31,826 30,649 1,177
J| 15,913
& 3,183
Al 12,730
307 2iz2to| & 31,826 30,649 1,177
J| 15,913
& 3,183
Al 12,730
11T AISIEXAIEEX 31,826 30,649 1,177
OUE3IIE Atdl &2l XY 31,826,000 «14A! 31,826
J| 15,913
o= 3,183
Al 12,730
200X SHAAMHIA XS 90, 150 82,516 7,634
J| 45,075
& 9,015
Al 36,060
307 QI2t0| & 90, 150 82,516 7,634
J| 45,075
& 9,015
Al 36,060
A EXAEEX 90, 150 82,516 7,634
OUSSIE SHAAMH A X
90, 150, 000& x 14! 90, 150
J| 45,075
o=} 9,015
Al 36,060
CIEsJtEs Ao e X 70,200 65,640 4,560
J| 35,100
= 7,020
Al 28,080
307 QI2t0| & 70,200 65,640 4,560
J| 35,100
= 7,020
Al 28,080
11T A EXAIEEX 70,200 65,640 4,560
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Hm: 04 IEZX X
el R3S Alsl S & (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUIsItE e d XA
70,200,000 » 14! 70,200
J| 35,100
< 7,020
Al 28,080
018N JIEsad =4 30,070 28,325 1,745
J| 15,035
< 3,007
Al 12,028
307 glz2tol & 30,070 28,325 1,745
J| 15,035
< 3,007
Al 12,028
11T M SXASE EX 30,070 28,325 1,745
Oolsgo H=s8d =4 30,070,000 =14l 30,070
J| 15,035
= 3,007
Al 12,028
sIaNE 22 25,000 20,009 4,991
J| 12,500
< 2,500
Al 10,000
307 21201 A 25,000 20,009 4,991
J| 12,500
< 2,500
Al 10,000
11T MISAASEX 25,000 20,009 4,991
Osgt=0uns 249 25,000,000& =14 25,000
J| 12,500
< 2,500
Al 10,000
ROt 2E0I=0Hd COISAES 3,000 2,990 10
J| 1,500
< 300
Al 1,200
307 21201 A 3,000 2,990 10
J| 1,500
< 300
Al 1,200
11 ALS S XAEE = 3,000 2,990 10
O0It= 22004 UOISAY
3,000,000& »14 3,000
J| 1,500
< 300
Al 1,200
Ch2shts #g € 24 XE 20,000 20,000 0
307 21201 A 20,000 20,000 0
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
11T A EXAIEEX 20,000 20,000 0
OCIRSIIE Y 2 A X2
20,000,000 = 14! 20,000
ChEshiis XY st2us & 63,000 42,866 20,134
= 12,600
Al 50,400
307 2Iz2t0| A 63,000 42,866 20,134
= 12,600
Al 50,400
11T AISIEXAIEEX 63,000 42,866 20,134
OC2sIt=ExtH st2uE
63,000,000 = 14! 63,000
= 12,600
Al 50,400
MIAH IOl DI E 8 AL & D] 1,900 1,900 0
= 380
Al 1,520
307 2Iz2t0| & 1,900 1,900 0
= 380
Al 1,520
11T A EXAIEEX 1,900 1,900 0
OHNIAHCISIY IS AP & DI
1,900, 000& = 14! 1,900
== 380
Al 1,520
Ch2st 24 a4 Olol Z2 0 40,000 40,000 0
& 20,000
Al 20,000
307 212t0| & 40,000 40,000 0]
= 20,000
Al 20,000
11 A EXAIEEX 40,000 40,000 0
OUI2s 244 &4 0ls T2
40,000,000 x14! 40,000
= 20,000
Al 20,000
CI23tE Y2 WNEXNA HRHA 19,648 19,661 A 13
= 3,930
Al 15,718
307 212t0| & 19,648 19,661 A 13
= 3,930
Al 15,718
11 A EXAIEEX 19,648 19,661 A 13
OUE3IIE U2UEATAF AR
19,648,000& » 1Al 19,648
= 3,930
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23 tE Al S8 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 15,718
CI&et SASSAHE T2 30,000 20,000 10,000
& 15,000
Al 15,000
307 2Iz2to| & 30,000 20,000 10,000
= 15,000
Al 15,000
11T AISIEXAIEEX 30,000 20,000 10,000
Ottyst SASSIME T2
30,000,000& = 14! 30,000
& 15,000
Al 15,000
CI2SIIEXN M 29 XK (XA 1,120 1,260 AN 140
201 et 1,120 1,260 A 140
01 AP 2t 2| bl 1,120 1,260 A 140
O3 244 1,120
D200 2 ORIJIIESXNIEF &AM
=G 70,000 821 x23| 1,120
ChEeshis g&23d 29 7,000 0 7,000
307 2iz2to| A 7,000 0 7,000
11T A EXAIEEX 7,000 0 7,000
OtU23IHs a2t &9 7,000,000 1Al 7,000
HdAUEUES 2 g4 3,305,695 3,307,352 A 1,657
= 110,862
J| 843,596
& 109,580
Al 2,241,657
AXE FAUE=RH 3,305,695 3,307,352 A 1,657
= 110,862
J| 843,596
& 109,580
Al 2,241,657
HAEX S A BHXI K& 92,832 93,180 A\ 348
J| 46,416
Al 46,416
307 giztol A 92,832 93,180 A\ 348
J| 46,416
Al 46,416
11T AISIEXAIEEX 92,832 93,180 A\ 348
OB AELHAE EAEXEZ A XX &
A 92,832,000 x 1Al 92,832
J| 46,416
Al 46,416
HadE =20 NS 71,250 71,250 0
= 28,500
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Pl 48,735
Al 48,735
307 2iz2to| A 97,470 96,800 670
9] 48,735
Al 48,735
11T AISIEXAIEEX 97,470 96,800 670
OFAHMAMY 2= 97,470,000 =14 97,470
J| 48,735
Al 48,735
st g H¥a4 X 125,993 124,794 1,199
J| 88,195
Al 37,798
307 QI2t0| ™ 125,993 124,794 1,199
J| 88,195
Al 37,798
11 Al EXAIEEX 125,993 124,794 1,199
Osty % "3a44 & 125,993,000 = 14! 125,993
J| 88,195
Al 37,798
HAUSEII T 29 128,300 127,240 1,060
J| 64,150
Al 64,150
307 2Iz2t0| & 128,300 127,240 1,060
9] 64,150
Al 64,150
11T A EXAIEEX 128,300 127,240 1,060
OHAE SUX Z2I 29
128,300,000 = 14! 128,300
J| 64,150
Al 64,150
StPNEH g T2)H 29 55,986 55,600 386
Jl 27,993
Al 27,993
307 2Iz2t0| & 55,986 55,600 386
J| 27,993
Al 27,993
11 A EXAIEEX 55,986 55,600 386
OnZ ¢gozIy 29
55,986,000& = 14! 55,986
Jl 27,993
Al 27,993
HAadE H2SHEH 2Y 155,862 154,552 1,310
J| 77,931
Al 77,931
307 2I2+0 & 155,862 154,552 1,310
J| 77,931
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Al 77,931
11T MISXASEX 155,862 154,552 1,310
OFAad E=235dH 299 155,862, 000& *1 155,862
J| 77,931
Al 77,931
HAE HS256EH DM/0F OM X 2,500 0 2,500
J| 2,500
307 21201 A 2,500 0 2,500
J| 2,500
11T M3 SRASEEX 2,500 0 2,500
OFAY Hd23dH WM -2 XA
2,500,000& *1 2,500
J| 2,500
FA4@ dus ot3tdiol 29 561,368 566,308 A 4,940
J| 280,684
Al 280,684
307 21201 A 561,368 566,308 A 4,940
J| 280,684
Al 280,684
11T MISRASEX 561,368 566,308 A 4,940
OFAHE LDS0HE0 29
561,368,000 »14 561,368
J| 280,684
Al 280,684
A4 EEXA 21,360 32,400 A 11,040
J| 14,952
Al 6,408
301 YU BHZ 21,360 32,400 A 11,040
J| 14,952
Al 6,408
01 MEIBEE 053 21,360 32,400 A 11,040
O&dAd EEXNE 21,360,000& » 14! 21,360
J| 14,952
Al 6,408
AE A2 XA 101,400 92,600 8,800
= 50,700
< 10,140
Al 40,560
301 LeHBAF 101,400 92,600 8,800
= 50,700
< 10,140
Al 40,560
01 MI2ZE 6= 101,400 92,600 8,800
O&FAY A2 XA 101,400, 000& 14! 101,400
= 50,700
< 10,140
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| A 70,560
=24 = 39,600 36,000 3,600
307 gl2tol & 39,600 36,000 3,600
04 DIZHHALALSE E X 39,600 36,000 3,600
OF=EAa4Y =X 39,600,000 » 14! 39,600
FFELE IOt A &0tE 5,000 5,500 A 500
307 glz2tol & 5,000 5,500 A 500
04 QIZFHALAIH 2 = 5,000 5,500 A 500
O&FAY It - HHA SH0tE 5,000,000 * 14 5,000
a4 E23XE 1,189,420 1,070,220 119,200
201 Let2d] 36,600 46,400 A 9,800
01 At 22l 19,600 19,600 0
O1 get=ZHl 14,000
PEALAEIE L5+ 2 5,200& x2,5000H 13,000
DEAE FHSBUH EES MH
1,000, 000& 14! 1,000
O3 2d=¢ 5,600
>ESNANN SHAVE Haag
70,0003 x10¢! %33 2,100
DEDEAYY XAHOS HALY
70,0003 x11¢1+23] 1,540
PEAE RH9IAE BMLG
70,0003 x1401+23| 1,960
02 =24l 17,000 26,800 A 9,800
O1 83322 ¥ HA 2,000
DEAESHANLE DERLELI(2M)
,000,000& =14 2,000
O3 A& & Hl s X bl 15,000
DEALATIANE RS 15,000, 000& 14! 15,000
202 O4dl 4,320 4,320
01 = LH 4 1i 4,320 4,320
OFAY g2=2 360,000& 12 4,320
301 LA F 2,500 2,500
09 AL HIXI& 3 2,000 2,000
O&FEAYE AL FIOHA B4 200,000& 102! 2,000
12JE2 4= 500 500
O&FA4E Roigd & 243 50,0008 102 500
307 glz2+ol & 1,109,000 1,017,000
02 QB HAANGEEE 12,000 12,000
OBAE DF(AAMH, tSAH S)
12,000, 000& 14! 12,000
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L= B
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HAUES U BA
ATE FAESH

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 2Iztol ™ 35,074 34,768 306
= 17,537
Al 17,537
11 AISI S XA E = 35,074 34,768 306
O UES MYMYA X X2
35,074,000 » 14! 35,074
= 17,537
Al 17,537
HAESKIIZ SAL AR > (A4EG=STHH) 19,950 16,840 3,110
< 3,990
Al 15,960
307 2Iz2tol ™ 19,950 16,840 3,110
= 3,990
Al 15,960
11T AISI S XA E = 19,950 16,840 3,110
OFAE=EXIE SML H2ME 2 (ags
X HIE) 19,950,0002 * 14! 19,950
< 3,990
Al 15,960
HAESBAIE JS2LAY 170,000 553,000 383,000
= 85,000
Al 85,000
401 AlEHI 2 2 0hHl 150,000 553,000 £403,000
= 75,000
Al 75,000
01 A& tl 150,000 553,000 A 403,000
OEFAE LGSR JISEZ 60,000
>ACIHOIEH WX 60,000,000& » 14! 60,000
< 30,000
Al 30,000
OFLHALHEIAH JsE 82,000
AN WWEHM ZH 82,000,000& =14 82,000
< 41,000
Al 41,000
O=YHAEEZSYE JIsEL 8,000
DAE Y MIAL Bt 8,000,000& 14! 8,000
< 4,000
Al 4,000
402 RI2HXt20l 20,000 0 20,000
< 10,000
Al 10,000
02 QI2t X2 AL E X (0l X THEA) 20,000 0 20,000
OFAEHSEAE JIs22(HIIHE)
20,000,000& =14 20,000
< 10,000
Al 10,000
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st gt HAE X2 (S4) 15,400 0 15,400
J| 7,700
Al 7,700

307 gl2tol & 15,400 0 15,400
J| 7,700
Al 7,700

11T AIS S RAEE = 15,400 0 15,400

Osti % HAd NA(SA)

15,400, 000& 14 15,400
J| 7,700
Al 7,700

daddyH 22X A 357,880 0 357,880
J| 178,940
Al 178,940

307 21201 A 357,880 0 357,880
J| 178,940
Al 178,940

11 ALS S XALEE = 357,880 0 357,880
O&dAddlH 29X 357,880,000 » 14! 357,880
J| 178,940
Al 178,940

Ots 2a3s4 2 X2 5,145,083 4,857,791 287,292
= 1,619,769
< 510,780
Al 3,014,534

Getlss dAHA -5 600,520 386,075 214,445
= 137,040
< 89,436
Al 374,044

YACH GEH S2 MY 300,000 300,000 0
< 60,000
Al 240,000

307 glz2+ol & 300,000 300,000 0
= 60,000
Al 240,000

11T M Z2XAS EX 300,000 300,000 0
ot s =29 300,000,000 » 14! 300,000
= 60,000
Al 240,000

Ctet SssdH JIsE2 X 70,000 0 70,000
= 45,000
< 7,500
Al 17,500

401 Al HI L ROl 50,000 0 50,000
= 25,000
< 7,500




- _ _ RE]
M- o9 (B H) - MEAY - B2 %Ei HR=2
Al 17,500
01 Al&H| 50,000 0 50,000
otsnN=s4 sl 50,000,000& = 14! 50,000
= 25,000
o= 7,500
Al 17,500
405 XHA&HF S HI 20,000 0 20,000
= 20,000
01 NHIMLEZFHSH 20,000 0 20,000
otsgn=s4 & | 20,000,000 x 14! 20,000
= 20,000
S =S28AlY 249 184,080 40,115 143,965
= 92,040
& 18,408
Al 73,632
307 2Iz2tol & 184,080 40,115 143,965
= 92,040
& 18,408
Al 73,632
05 QIZt E 2 184,080 0 184,080
OotUeN = 21| 172,380,000 1Al 172,380
= 86,190
=} 17,238
Al 68,952
otusn s 23| 11,700,000 = 1Al 11,700
= 5,850
& 1,170
Al 4,680
S =28 AY 24X 18,000 0 18,000
307 2Iz2t0| & 18,000 0 18,000
05 QIZtR &2 18,000 0 18,000
OoUstnH =8 AHl A&
500,000 *3 2~ x12& 18,000
AMNBEXI2 SALL N (2XEY) 17,640 29,160 A 11,520
o= 3,528
Al 14,112
301 et M= 17,640 29,160 A 11,520
o=} 3,528
Al 14,112
12 JIEtE2 & =2 17,640 29,160 A 11,520
OEAMNA EXxE N (TEN s24H S)
17,640,000& = 1Al 17,640
= 3,528
Al 14,112
Shee olsAd 10,800 16,800 A 6,000
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